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C0331/C0553 PRINCIPLES OF MANAGEMENT.

Q1

a) Henry Fayol
b) F.W.Taylor
c) Peter Drucker
d) F.Washington

2) Management principles are u3~a~-a— =
a) Applicable to commercmlergamzzi‘:Qfl‘q,n}y-
b) Universally apphcable P ;
c) Notrelevant
d) Not practical

3) Planning is
a) Rigid

Contemﬁ@&fymmgeﬂmnf | Ben e
a) Crisi$ - _
b) Gﬂﬁssl‘vatﬁr@

4)

judgement.

, ‘—QrgHmZation [ ¢ (TR !
lﬁn‘a,tlcx RO
gNonSp\\r,fEformmg

$ ) Hcfeéated
-d) Cre
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C0331/C0553 PRINCIPLES OF MANAGEMENT.

ST AT s

ar.cose:zss

8) Departmentation by function is suitable to ~remeeeeeeeeiice gbgARIZALION. S
a) Small AR G LR I
b) Domestic ;
¢) Medium S PG
d) Large SIS FLTTS

9) Present managing director of lnternationa‘!}i“‘nﬁn&agf‘ﬁnd"_is‘ T
a) Jim Yong Kim LSBT I PN
b) Christine Lagarde i 8 SO FEP S IR F ST,
c) Takehiko Nakao w FEILR EOFS F O
d) Janet L. Yellen RN A D o o S NS % G

10)Delegation is transfer of certain HEEAT L (S O
a) Accountability . 5 N JCPNF e
b) Responsibilities SFELF LT LI
¢) Documents Sl AN PR R T LA S
d) Finance P PNTIICE S S S SR SO

b) State whether following smteméntsaretrueorfalse(anyseven} S
a) Management sacontinious process. - .
b) Taylor introduced the concept of MBO SR8 w0

c) Direction is the action elémerit jn business. - = .~
d) Formal and informal orga izations are same. .
€) Mateixorganization structure is very easy to manage
f) Sﬁﬁ'fﬁ}lgfwmf?&idbﬁaﬁszfaﬁﬂﬁﬂ‘?.39‘3‘_."3‘115"'313}‘ :
8) ;Mr. DeepakParekh is a known personality in the field of housing finance
h) World bank provided more funds to developed countries and less to poor
DO EOYIIER &S s s N
* 4)."Godref is a consumer friendly group. -
LR ;},§O\ygar);i2atigh‘eﬁsures optimumutilization of resources.

- L

Q.2 a) ;iDﬁ;ﬂ%:ﬁ%&ééfbﬁL'_I.q.:-hiaﬁag'emf.énf"a profession?

_"b) Explain the d

istinctive contributions of F.W. Taylor
* ) Discussthe concept-managemenit. Explain its features,
2 ) Eﬁplagnb“l.ldgt:tmgindre\pomng as functions of management.

» b A

POV oty

{ Y e . -~
LA Oy
S e h

P &%

Q3 _”:"jg.'a}fw Whét;}%pé" thefuncmonsof mghégement in insurance companies?

: B Discuss the im]i“’cirtfgngié‘_jof controlling in management.
:\ 9o S \ "o A e 2 5 OR

$AEQ “Expldin the planning function of management in a banking organization.

S ‘What'is arganization structure? Explain its importance.

5] &y -

£ N
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a) Distinguish between Form

Q4

4‘4““.!“““"1 o

1€S.

industri

in Indian i

b) Explain the contributions of JRD Tata

B i o v s oy

types of sﬁ'ucture followed by banks

c) Discuss the

B A @ s s = e

ts presider

i

d) Write briefly about Federal Reserve Bank and

Wy

! owing (Any three)

Q.5 Write short notes on the foll

=]
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5) Management as a process
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[Time: 2:30Hours]

Please check whether you have got thejigng
N.B: 1. Allquestions are compulsory. R er
2. Figures to the right indicate full marks. <

A) Choose the correct alternative, (any etgh‘f) R
i) ----=----—- is the holy book&the Chrlstlans
a) Bible  b)Quran éiTﬁEah &

08

ii) Indian society is -----h; u
a) a)Tribal b) U;baﬁq,cjf’lura.héttc

i)

iv) \l@ﬁmentim?\tvpe
a) Socia[x b) Sexdat\,t;)Domesﬂc _
V) o .-: _is g sqﬂqus fos?h(of ecmunétivltls

‘ a) : Astngm\aﬂoh \h)GlaL:cnma C)Tréchoma"

: —ee- :irlsbguut gt” rehgmus fpndamentahsm
< a) Comfmﬁahsmgblgastelsm c)Seculansm

{ “ 7 \.

. | visaggs the goal of a welfare state.
a)- Swerelgn h)seculer cjgoé‘lahst

o -Indi .dn.sﬂtut'iOn has d,dbpted --=-----—---- Democracy.
a)_ Parliaméh,tary t&)Presndentlal c)Direct

. ) is the hﬁaﬂ of the Gram panchayat.
\a Pl’bﬂdet‘lt c)Mayor c)Sarpanch

Page 1 0of 5
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Q.2

Q.3

Q.4

Q.5

The founder of Sikhism is Guru Govind Singh.
Eve teasing is a social violence agamst.wgmen

jif) In India, the states are formed mostiv on\-th“e‘hdsis q

iv)

v)

vi) n '

vii) The Fundamental Duties in Indlgn Cbns’tltutfbn dre jusﬁthahle in\natllre. S
viii) The Indian constitution is thwhonést ertten const:thf Oﬂ of the worid ol

ix) The existence of political partles is not ﬁn ésse’nﬁal f‘eqwretnent_ of a demo ratic sountry

x) The Constitution of india éupfgﬁs i

What are the chhlfengeﬂ td women-s ﬁnlmc"al paftimpatlQn rn Indla? Suggest measures to overcome the
challenges SR G ;

1) Indla as a mmthu}tura! soCiet'o/

< Inequalltlés against pnople with’physmal disabilities

: ; Caste cohflicts in lndla o

T’hé Ereamb[g ta the |ﬁd{ant0nstl‘lutl0n
The Reguunﬂ p\Oh%ICEI parties in India.

Page 2 of 5
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(Time: 2 % Hours)

on

Please sheck that you have the Correct Qu

i

est

S

N.B.: All questions are compul

.I. (A) Match the Columns (Any Eight)

‘C’ Of Communication

1,

Proxemics

4

Kinesics

<.

4. Physical Barrier

5. General Agreement

6. Homonyms

Salutation

T

8. Persuasion

Posters

9.

(7)

(B) State

i~

X

Downward Communication

te it

\
vel
>

o

.

o

age a person.

5¢0

N

. 7;2"

A

s
N
LA

®

o

N

ompulsory part of 2 Business Letter.

s

\"s\‘_
A0

P.1.0.
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Il (A) List the rules for effective Listening.

(D) List and explain the advantages and dlsadvqrpth\ éS‘
in an organization. G N

I1l. (A) List and explain the advantages, dis: dvanfaig?’\éf§§51" - corr
Grapevine Communication. T WA
X

(B) Explain the term Business Et
Advertising.

IV. (A) Draft a Letter of Apphca?f@'\
Clerk with Proconneq,SNod ictions

Full Block format. = .«':? 3 -\Q “-3‘,‘--
r\\‘f ,g,ﬁi"g\:::‘(:.\’ .\\&r k::",
&S TLON & (T L FRetatnt
(B) Ms. Mehvish S@{h*ba;*hge@b red t t;oqntant with (05)
Synergy Produ;:tipfns:\?y’f.r fn\., Bahdf%QWesgj aft
Acceptancg qﬁ ner” behg f. Use _the Mbdiﬂed
Qur;;cu%um V!ta(‘-; for the post of Senior (10)
waer Parel,{ Mumbai. Use the Complete
(D) Ms. -Ma&f{%\if Siﬂhgh Has'\bégﬁgugr-lﬁﬁ_' ag ngor Accountant with (05)
2 Rajesh\ﬂan lndﬂ‘stnek,ﬁaﬁpkﬁslh eth he. last seven years and would now like
R resngn erm h“ér‘poét; thseék'axbetter career opportunity. Draft a Letter of
Re5|gnatlon *on_,heg behé‘lfg Usg théﬁemn Block layout.
P o ,.,\ i )v- ‘\,, )
(15)

e

fé pbrate\Sémar R65D0n5|b|llty
cul’r\uraf Barrlecs to Communication

¥ O 2

Attitu e $$
3 ‘Gllahtag s;and Disadvantages of the Internet

S, il i e

-PéranaL n egﬁty as a Business Ethic

o
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RRL se®.-1
' Nov. 9oif

Please check whether you have got the right qﬂ?ﬁ?@ﬁﬁﬁ?ﬁ’ £
N.B: All questions are compulsory subject to internal ChBLge & ;\ o~

1 [Time: 2 hours |
3 |

D 1 A) Fill in the blanks with correct alternative:- (any 8) N ¥
: 1) insurance forms the lifeline of several commefc&%li
(Life, Medical, General, Marine) 2

- I
3) The minimum requirement as per Act for C
@ (2%, 3%, 4%, 5%)

4) The SLR cannot be less than y ;%{éﬂhe (temand Miuh@ﬁaﬁmt}esﬁf
(20%, 25%, 30%, 35%) v b '

5) Risk control focuses on ~ P th
Techniques of risk av01, " Biehs
(Maximizing, MlIll ]

! ;adncnqﬁ @ LD

6) The Indian B

(RBI Act 1934{\3@@@5% gul ey
s and Bﬂﬁﬁsﬁiﬁgu;aﬁons Aa‘w@@ ;

-éMimster i‘?itﬁd‘ce Both RBI Act
‘ S

&
2 "’\ :\‘-.‘ :‘-

vs‘"«‘v

7 Ommﬂ%ﬂkfﬁ‘&ﬁ@%ﬁsﬁ arising from various s types of
;e}{;m pr‘ocgdﬂm?. in. hgpk,:ﬂréakdown in Internal controls,

8)_One of the'main; ”bﬁsﬁ“gf ALMN is to céntroi\k " ik
? \ \m@%‘gm Bvﬁ,i'ﬁqsg lhtemm“ra;e)

\\ _1

‘1,"“- =
4

b

mt ‘fh&‘?ﬁl{qﬁdﬂg\sﬁemenm are true or false :- (Any 7)
> Ch@uéﬁ Hota regotiable instrument.
3 isw t card issued by the National Payment Corporation Of India.
Tl ‘Isﬁnewed as one of the income tax saving device
'ch_‘_; §_?‘ -1“‘ Q:‘Enh\gif;f‘;‘.a}',tjectlVf.e of cooperative banks is profit marking.
=8 ﬁi@eﬁgr ‘bank of India is known as RBI today.

‘\.

4 hd

.‘A 5 ,.:
21 By
RO

Fa¥ Page1of2
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m,sk ot‘ kossth:Wh}dl iheﬁﬁrus éxpectcd and includes the

)



vi)  Risk reduction is not possible in insurance sector.
vii)  Credit risk is the primary challenges for banks.
viii)  Third pillar talks about the market discipline.
ix)  NPA stands for Non- Performing Asset.
X) RBI is apex financial institution.

Q.2 a) Define Financial Service. Explain Fund Based Financi:
b) What is Insurance and explain its objectives. i)

' OR £

Q.2 ¢) What arc Commercial Banks? Explain functions of
d) What is a bank? What is need for Banks? .-

Y

Q.3 a) Explain Non- Fund Based activities and sqig:cgof e ba '
b) Explain the role of RBL R A N

Q.3 ¢) What are the fundamental pﬁncipl@‘f f
d) Explain the role of insurance? k{;ﬁ@é by
F@ L

Q.4 a) Explainany Two sections O E;ai‘ﬂﬁ'ta"‘“' F;

¢ G
5 IR o o Y GS AT o
| A pn S
¢

am com P
a a@ﬁﬁbﬂt@yﬁwf-iﬁsumnce companies.
o SOV R &

n I i AT AE

i
o2~

AL

~
v

&5
s
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e

Q1 (a)
1)

10

Q1(8).

NCo e W N

s
7]
10

[Time: 2% Hours]

N.B: 1. Figures to the right indicate marks ey
2. Graphs to be provided wherever needed;

Choose the correct answers: (any 8)

IfAand A are complementary events then P (K):ﬁt-lf-ﬁ-{---"_""\» >
(@) 1+p(A)  (b)-P(A) (c)1-P(A)
We use regret table for calculating --—------4"
(a) EOL (b) EMV  (c) Maxim ax
The formula for Laspeyre’s index numberis Ly = =
XP140 . YPido Ypiqi

b =l
n 2P1 4o : }EquO {c?,__EPbQ'i §

Cost of Living Index numbers is also known as--—--iwtind

al 85 - Index Number

(a) Value (b) Consumer’s Price “{c) Wholesale- L
The difference between the upper limit and- lower limit of a class is'called L of class
(a) Class mark (b) CfsiSs':’WEdi_h (¢) none ‘df.thés’:e'f” PSS

(a) Least frequgn"tr’,.w(ﬁ)‘\l\_{]’"d‘\t_ilé most (¢) Most ft,égq'i;gpt\
If variance of a dat_;;i‘is"a;.{tﬁe'h;its“.fstér‘idatj_d deviation s s---cu

(@) 2 (b) 4 (c). PR S e
The correlationcoefficient is-unaffected by charige of -

(a) origin " (b) Scal ey (C)'f'o_'ri_gin&SCalé J e
Coefficient of correlation lies between —-coovrt N &V

(a) ~Tand 41’ :(b)-2and +2: (c)Oand 1. O
Range is determiined only by -~ points in a data set,

(@) -Two" (b) Three (c) (UGN L SO RS

it

State whiether True or False! =5 (ahy 7)
Mean deviation is'a relative measure of dispersion.”

- Variance is always po.r.ltive g e

Probability of an'event cannot be zero :
‘ Théai"geb;é‘ii.@:‘;ih_ﬁj of the deviation of a frequency distribution from its mean is always zero.
_ There'can be more than one madal value in a frequency distribution.

Freg ueﬁr’:iy dglné_ity ofa q_las_)sfifi‘te‘rval_'z
~ Diagrams & 'g:r‘éf:ﬁ;_é?e pi !
“Index number for the base yearis always 100.

AFan insurance premiun is not paid within the grace period, the policy lapses

classs frequency
S width of class
ctorial representation of tabular data which is easily understood by a common

{

The tabulated rate of annual premium is calculated per Rs. 10,000.

C624DB4C01F29DB656CD4E6D61F2AFCS



Q.2 (A) Calculate Quartile deviation.
Weekly wages: | 0-20 20-30
No. of Workers: | 40 39

(C) Calculate co-efficient of correlation between Inde
Index of 101 108
demand
Index of price 117 98

5:1’
(D) Calculate co-efficient of rank correlation be
Marks in 40
English
Marks in 20
Mathematics

x\\
'V\f"\}

Kv ; N
arks lnMatﬁgmaflg and rna

Q.3 Solve: . )
- (A) Abag contains 7 whlte bh el 1ty wo baU are dra\Nn at random from the bag,
find the probability thdt [1 e Hjﬁe” (ii) dfﬁﬁlgi's&ljléq £ t‘he other is red.
(B) In a Pizza hut the fQ"ng%«d]&;.tr\lbut‘lOn 1s found far th "ddii de izza find the expected daily B
demand & also the y‘hgﬁﬂcg, s
No.of Pizza .- posd

~a

, 10
0.07 0.06

K\? Sy

Quantity Consumed 1980

Price Quantity
1995 1990 1995
12 20 22
13 2 24
18 20 18
18 5 6
20 7 8 N

C624DB4CO1F29DB656CD4E6D6 1 F2AFCS
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Q.1 a) State whether the following statements are Truaor‘FaIsiz

4) Cross elasticity of demand for substitutes i i ’,boérﬂvé o

PE

[Time: 21 Hours]

Please check whether you have got the right quéstlb’p li}ip
N.B: 1. All Questions are compuisory,
2. Figures to right indicate full marks.
3. Draw diagrams wherever necessary

B
{fny Eight) >
1) Microeconomics deals with the analysis of natnonghﬁ‘;o?mg @‘1 VAT

2) ame dema smand
3)

5) Atechnically efficient- production funct'pﬂ iﬁdlca‘f,as absemﬂa w\;‘a‘stég of re;
6) External economies may. occur due to diwston 6? Iaboun ' B
7) Demand curve of a monopolist is sfo ) I
8) Price is very flexible in oligopoly. = -
9) Dumping is known as International ;:o~ ae dxscri
10) Full cost pricing method has c;éf‘tar J ¥

b) Match the following (Any,s*éyeir)? X

i T
£
Falh

et Group A
1) Equations &GS

2) Negative tncqihg‘"laﬁ'en‘:’hC :

3) Demand foﬁét@sjlng“ A

’: f d) &i&thé}natically express functions

: &) Prof. Paul Sweezy

ﬂ' lﬂﬂ’:ﬂ(}r goods

C=IR, ) i Determined by govt
8). kinkad deztfaffit cuwe‘ [» hl Survey method
9) Admlmsth\rzeﬁ’r‘tcm& 1) Cost incurred on additional unit

; ‘_'10) MargmaTcoSt nrt(ﬂng j) Budget line

k) Hall and Hitch

I) Complementary

ADS55F62224318ABD441CFBD7672753BB

(07)

" (08)

(07)



Q.pP. Code OOTLd
) The demand function for commadity wheat is given by Qaw= 100- Sr,w T“ e prlce 0{ wheat is gw:n
- in below table. -

Price of wheat (Rs.) Quantity demanded. (kg} :

& (’1

BN

8

Answer the following questions:- v
1) Calculate quantity of demand for wheat at gwerq_ rh:gs <
2) With the help of above demand Schedule dra‘w
3) Calculate price elasticity of demand whe pri

t03)
(03)

Sl o

: ~What is pi‘lt:e leadé:“‘h:p?Ex, i ©7)

3)":_"Prdm-0tfor“13ff e1a;gjclty oF demand
‘4j);-"-‘Types_ of Pr“ductlon fUnct__on

AD55F62224318ABD441CFBD76727538B



